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LABJNDuS triangle lightnesst*
t* Yoc=Yw - nc=100,

t*LaBINDUs =IN(A 1ntA2nY)/(ArAon)  (Ynd/100<Y<=Y, ()
L ABINDUB=IN(A 1+ A2X)/(A2A0n)  (X=YTYy)

‘*%ﬁ[@nf‘%lb %&b gélez*w(gm 1737y

L}
toi=1136,9 1, A= 8666, 4,=0,0699, ¢=0,67
t2=1.15.6 3, A= WOLL, Ay=0,D038 -m-m =
t*3=430,6¢ 171 56,68 ?gr?g"ga"m
1
L] X=1
e T ———
- XN=0,2  IXyw=5

LABJINDu8
tristimulus value difference
YoemYw  nc=100,

L AgINDUs=IN(A 17 A2 Y)(A2rAon)  (Yad/100<Y<=Y,o)
L AgaNDus=IN(A 10t A2X)(A2iAon) - (X=YTY)
dY=Ag(A1rtAgY)=Agy(A1r+AgX), see CIE 230:2019
dYeg=0,24, Ayr=0,6666, A4,=0,0699, ¢=0,67
dY,=0,05, Ay=0,011, A4,=0,0038
d¥3,6=0,01 Y,=18, dY=0,05

>
>

.
r*,=1116 d¥,=0,05 dY,¥,="., 0030, ¢

log(dY)=0,05 M=-.85 % 3

log (AY/Y) LABJINDUS

_ tristimulus value sensitivity
S=@vr) YotV nc=100

L AgINDUs=IN(A 17 A2 Y (A2rAon) - (Yad/100<Y<=Yoo)
L AgaNDu=IN(A 10t A2X)(A2iAon) - (X=YTYy)
AYIY=Por(A iAo )Y =Ag (At AsX)/Y
(dY/Y,=0,0026, A,;=0,6666, /,=0,0699, ¢=0,67
(dY/Y)g=0.5020. Ag=0,011, A4,70,0038
(dY/Y} 0,076 Y, =18, ay=0,05

application
‘~ range
log(dY/Y)E-2,52 m=-0,f5a
Y s ana
t*,=1116 dY,=0,05 dY,/Y,=0,003a
1

X=1

xN=0,2 Xw=5

LABJINDu8
tristimulus value contrast
Yoc=Yw nc=100

L AgaNDus=IN(A 17 A2 Y (A2rAon)  (Yad/100<Y<=Y,o)

tLaBINDUs =IN(A 10t A2 )/(AoAon)  (X=YTYY)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]

C,=(Y/AY)

(Y/dY}=373,82. A,-,6666, /5.,_0 0699,£=067%
(Y/dY)g=331,54, Am 0,011, A %0, oosﬁpp il
(Y/dY} 212,75 1,=18, dY=0,06

xn=0,2 'xW:5

LABJNDuS relative triangle lightnesst*/t*,

e, Yoc=Yw - nc=100,

tLagaNDus=IN(A1ntA2Y)(A2rAgn)  (Yad100<Y<=Yyo)
1 ABINDUs=IN(A 10+ A2 )/(A2 A0  (X=Y/YY)
t(3,6)=491 * ,(18)=1116 % ,,(90)=1737

t* g/t =1,55, Ayy=0,6666, 4,=0,0699, ¢=0,67

t*1g/t* =100, A,,=0,011, /4-=0,0038

3 g/t*,=0,43,t%,=1115,68 Y=18

log[t*/t* ]=0, m,=0,33

L* =49, 1,115

1 application
range

=1

log(AY/AY,) LABJNDuS relative

tristimulus value difference
AN/N Yoc=Yw =100,

t*LaBINDUB=IN(A 1n+A2nY)/(A2rAon)  (Ynd/100<Y<=Y, ()
t* | ABINDUB=IN(A 1AL (A Ao (X=YTY)
AY/dY =(AqntA2X)(A1ntAgy)
dYgo/dY,=4,43, Ay,=0,6666, A,=0,0699, ¢=0,67
dY;g/dY,=1,00, A ,=0,011, A.=0,0038
dY3 ¢dY,=0,31, Y,=18, dY=5,05 4

-
5 dY,Y,=",0030, ¢

log [(AY/Y) 1 (AYIY),]

LABJNDuS relative

tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc
t*LaBINDUs=IN(A 1n+A20Y)/(A2nAon)  (Ynd/100<Y<=Y, ()
tLaganDus=IN(A1ntA2X)/(A2iAon) - (X=Y7Yy)
@YYV, =IA 10t AaX)/Xull (A 1n+Agy)
(dY/Yhg/(dY/Y)-.88, Ay=0,6666, A,=0,0699, G=0,67
(dY/Y)g/(dY/Y)=1.00, . =0.011. A=0,0038
(@Y dOYVA13 Y18 0Y=0.85

Ay
log[(dY/YY(dY/Y),]=0, m=-0,13 .
t*,=1116 dY,=0,05 dY,/Y,=0,003( ?g’,ﬁ’é‘ga"m
%=1

XN=0,2 Xw=5

log [(Y/AY) 1 (YIAY),] LABJINDuS relative

tistimulus value contrast

CrlCru=(YIAV(YIAY), o e ¥ o3 0
t*LaganDus=IN(A1ntA2Y)(A2rA0n)  (Yad/100<Y<=Yyo)
tLaganDus=IN(A1ntA2X) (A2iAon) - (X=Y7Yy)
(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)

(YIdY Yo/ (Y/dY)=1,12, Ay=0,6666, A,=0,0699, ¢=0,67

(Y/dY)g/(Y/dY)=1.00, A,=0,011, A4,=0,0038

(Y/dY}, f(Y/dY)=0,64 Y,=18, dY=0,05

log[(Y/dY)( YldYL] =0, m= 013

application
range

LABJNDuS triangle lightness T*

YoceL*w - ne=100,

T aganDus =IN(A1n+AnY)(AznAon)  (Ya/100<Y<=Yyo)
T*LaganDus=IN(A 10t A2 X)/(A2uAon) (X—V/Yu)

T*ME;"[-@/T”@} {85116 T w 90) 1757,

I
1
ol ]

]
*95=1736,93, A = #6666, &LFI),OGQQ ¢=0,67
T*16=1115,68 A = %011, 4,=0,0033
T4357490,69,"%, L 5,68 = 1§

=l

appllcatlon
ange

Xw=5

CEUB0-1A
logAY) LABJINDu8

AY tristimulus value difference
YomL*yy - =100,

T*LABINDUs=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Yno)
T*LaBINDus=IN(A 10+ A2 (A2 Aon)  (X=YTYy)
dY=Agn(A1r+AsnY)=Aon(A1+AgX), See CIE 230:2019

dYoq=0,24, Ay=0,6666, A,=0,0699, ¢=0,67

dY,5=0,05, A,=0,011, A4=0,0038

d¥3,6=0,01 Y,=18, dY=0,05

T*,=1116 dY,=0,05 dY,/Y,=0 J[-\_)(‘ 2

CEU80-3A

LABJINDu8
tristimulus value sensitivi
S=(@AYH) YomL*w =100 4
T*LABINDus=IN(A 10+ A2nY)/(A2nA0n)  (Ynd/100<Y<=Yno)
T*LaBaNDus=IN(A 1+t A2)/(A2uAon) - (X=YTYy)
AYY=Ag(Arr+AgnY)Y=Agn (A1 A XY
(dY/Y)=0,0026, A=0,6666, A,=0,0699, ¢=0,67
(dY/Y)§=0,0030, A=0,011, A,=0,0038
(dY/Y), =0,2046 Y,=18, dY=0,05

application

N range
log(dY/Y)=-2,52 m=—0, Tsx

-
T*,=1116 dY,=0,05 dY,/Y,, 00030)“ 1

XN=0,2 Xw=5

CEUB0-5A
log (Y/AY) LABJINDu8

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’

T*LABINDuS=IN(A 17+ A2nY)/(A2nA0n)  (Yd/100<Y<=Yno)
T* L aganpus=IN(A1n+tA2X)/ (A Aon)  (X=Y1Yy)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]

T*,=1116 dY,=0,05 Y, /dY, 331

log(Y/dY)=2,52 m,= o 132 i
1

(Y/dY}=373,0%, #4,=0,6666, /5.,_0 0699,£=067%
(Y/dY)g=332,94, A=0,011, A %O, oosﬁpp il
(Y/dY} 212,76 Y,=18, dY=0,06

-

XN=0,2

CEUB0-7A
CEU81-7N

THT* LABJNDuS relative triangle lightness T*/T*

THT*, Yoc=L*w - nc=100,

T*Laganbus =IN(A1ntAnY)(AnAon)  (Ya/100<Y<=Yyo)
T*Laganpus=IN(A17tA2X)/(A2uAon)  (X=Y1Y,)
T*n(3,6)=491 T*,(18)=1116T*,,(90)=1737
Ty T*,=1,55, A),=0,6666, A,=0,0699, ¢=0,67
To1g/T*,=1,00, A=0,011, ,=0,0038
T*3,dT#,=0,43,T4=1115,68 =18

log[T*/T*,]=0, m,;=0,33
1 application
f range
%=1

CEUB0-2A
log(AY/AY,) LABJNDuS relative

tristimulus value difference
AYIAY, Ve irl
T*LABINDUS =IN(A 10t A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUS =IN(A 1ntA2) (A2 Pon)  (X=YTYy)
dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=4,43, Ay=0,6666, A,=0,0699, G=0,67
dY,g/dY,=1,00, A,=0,011, 4,=0,0038
dYsddY,-0.3L Y18 0005 .
lﬁ dY,=0,05 dY,/Y,=0 J(‘_;(‘ o0

CEU80-4A

1og [(AY/Y) I (AYIY),]

LABJNDuS relative

tistimulus value sensitivity
SISU=OYNIAYIY), oo e YEHE TS

nc’
T*LABINDUS =IN(A 1ntA2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDuS =IN(A 1ntA2) (A2 Aon)  (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)

(AY/Ypo/(dY/Y 0,88, Ay=0,6666, A,~0,0699, ¢=0,67
(AY/Y)g(dY/Y)=5.20. A=0,011, A,=0,0038

=

log[(dY/YY(dY/Y),]=0, m=-0,13 .

T+,=1116 dY,=0,05 dY,/Y,=0,003p ?g’,ﬁ’é‘ga"m
%=1

XNn=0,2 Xw=5

CEUB0-6A
log [(Y/AY) I (YIAY),] LABJNDuS relative

/Gy =(YIAYY(YIAY), t\}stlnﬂylus value contrast

nc™

T*LABINDUS =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUS =IN(A 1ntA2) (A2 Aon)  (X=YTYy)
(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)
(YIdY}(Y/dY)=1,12, A5,=0,6666, A,~0,0699, ¢=0,67]
(Y/dY)g/(Y/dY)=1,00, A=0,011, /4,=0,0038
(Y/dY} g(Y/dY)=0,64 Y, =18, dY=0,05

log[(Y/dY)( YldYL] =0, m=013

application
range

CEU80-8A

TUB-test chart CEU8; LABIJNDuU8*(Y) & T*(Y), Yn&=(Y&L*) wrcBne &x=0,66, with more data
Lightness, sensitivity and contrasty#0,6666, A,=0,011, A,=0,0038, A,=0,068
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